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- Q.P. Code :16281
Max, Marks: 80 Time: 3 hrs.
] N.B. : 1. Q1 is compulsory
- B 2. Attempt any three questions from Q2 to Q6.
Ql. &) Show that |37 dx = Jn 3
=1 : 0 44/log3
— b) Solve (2y2 —4x + S)dx = (y " Tt 4xy)dy 3
2
¢) Solve the ODE (D——l)z(D2+1) y=0 3
PR
J T
—— d) Evaluate I I ex dy dx 3
' x' —l
e) Evaluate I 4
f) Find the length of the cycloid from one cusp to the next, where 4
: x=a(0+sinB), y=a(l1-cos0)
e Q2. a) Solve (D2 -3D+ 2) y=2¢" sin(g-) 6
| o .\'24 ﬁ
' b) Using DUIS prove that I e ( J dx = \/j "2 a0 6
e [ s
g ¢) Change the order of integration and evaluate dxdy 8
CSEERE X
3 1 l=x l=x=~y 1
3, dz dy dx 6
Q3. a) Evaluate _([ { ) (x+y+z+1)3 X
_ b) Find the mass of the leminiscate r? =a?cos20 if the density at any point 6
is proportlonal to the square of the distance from the pole.
-3 2
¢) Solve x? X +3xd_y_+dy y-4logx | 8
— dx’ dx? dx x
Q4. a) Prove that for an astroid x23 4 yz‘/ 3=a%3 , the line 0 =-g~ divide the arc 6
: in the first quadrant in a ratio 1:3 .
b) Solve (D2—7D—6)y=(1+x2)cz" j 6

DF85B2CAF8DDC703193679392A334922




Q.P. Code :16281

¢) Apply Runge Kutta method of fourth order to find an approximate value 8
of y when x=0.4 given that —= % =1X y=1when x =0 taking x=0.2
dx y+x
Q5. a) Use Taylor's series method to find a solution of —3—?; =1+xy, y(0)=0 6
for x =0.2 taking h=0.1 correct to four decimal places.
2
b) Solve by the method of variation of parameters d { +y= 1, 6
dx l+sinx
¢) Compute the value of f (sm x=Inx+e ) dx using (i) Trapezoidal rule 8

C' 2
(ii’) Simpson’s (1/3)" rule (iii) Simpson’s (3/8)" rule by dividing into six subintervals.

z
Q6. a) Using Beta function evaluate j‘cos6 30sin® 6040
[

b) Evaluate T I Iog(x +y ) dx dy by changing to polar coordinates 6

¢) Evaluate m:c y z dx dy dz over the volume bounded by the planes 8
: v

x=0,y=0,z=0and _:E+z_+__z_=1
a b c

\
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[Time: 2 Hours] RN e

Please check whether you have got the right questmr; gper
Question no 1 is compulsory -

Attempt any three questions from Q.2 to Q. 6
Use suitable data wherever required :
Figures to the right indicate full marks.

W e

ll Attempt any five of the following ; 23T

A Why the Newton'’s rings are circular and fringes in wedge sha' eﬂfl}m are stra 'ht?

8 What is grating and grating element? ST

C The core diameter of multimode step index fibre is 50:;{ The numerlcﬁl aggrture‘isﬁ 25 calculats the
number of guided modes at an operating wavelength.of 0:75 pm,2 . s

D What is a population inversion state? Explain its sigmﬁcance inthe operatton of LASER

€ What is divergence of a vector field? Express itin.c ftesian cbordmate system.

F What do you mean by thin film? Comment on the cologs irr’thin filovin sun Isght e

G An electron is accelerated through a potential dlfferepm of 18 kV ln a\cojor W cathode ray tuhe Calculate
the kinetic energy and the speed of the eiectron R . £ :

L2 A Derive the conditions for maxima and m:mma due,tc ;nte ‘ ere‘hce ofhghttﬁansmltted from thln film of
uniform thickness. EE e N & 3
B Differentiate between step :ndex and grsaded mdéxi‘bre e o 23 '
An optical fibre has a numem;al aperture of on ahd a_refracftwe mdex of claddmg ih 1.59. Determine the
core refractive index and the aqceptance angle for watgr w'mch has afefractive index of 1.33.

+3 A Explain the experimental‘ q hod todeter me tfie waveienggh af sgectral hne using diffraction grating.
What is the hughest@r‘der pectmm whyzf_l can be seerr“w;th rnonochm ;Ic light of wavelength 6000A° by

B Explain construct:oﬁ and wark?qg of He Ne laser withlneatiabel dlagram

B4 A Explain Cyimdrlcal c&ordmate system. Sﬁate the:fransfu i
co-ordinates. - R -

8 Explain:the concept of electrostatlcfor.usmg‘inelectron pt:cs

€ Two cphcaﬂy ‘plane giass stfips of"rerjgth 10cm are: plac;d one over the other. A thin foil of thickness 0.01
mm is. mtroéluced between them at one’ entU;o form. ar}‘ 2ir film. If the light used has wavelength 5900 A°
ﬁnd the e ssparation beMeenﬁoﬁsecuﬁve bright fnnges

atlon relatlon between Cartesian and Cylindrical

A‘W th Newtan s ring eXpenment exgla:n haw todetermme the refractive index of liquid?
B UsmgSphgrical co—ord[nate éystems calculate the area of a disc of radius 2cm.
£ What aré different téghm uesto synthesrs nanomatenal? Explain one of them in detail.

ﬁ Wcth ngat dlégram expTannstru;:tio,n gnd working of Scanning electron microscope.

B3 Expla‘m the constructlon and’ "reconstmctlon of hologram with neat diagram.

C An. e!ectrnn asfaccelerat“ed through a potential difference of 5 kV and enters a uniform magnetic field of
"0 32 wl:a/m2 actmg normabtathe direction of electron motion. Determine the radius of the path.
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Q.P. Code :13126

T —

Please check whether you have got the right question paper.
Question.No.1 is compulsory.
All questions carry equal marks.
Attempt any three questions from Q.no.2, to Q. no.6.
Figures to the right indicate full marks.
Atomic weights : H=1, C=12, 0=16, 5=32, N=14, C1=35.5

N.B:

O T b

Answer any five of the following:
Gold does not get corroded due to oxidation. Why?

. Give the composition, properties and uses of Duralumin.

Define octane number and cetane number.

. Give classification of composite materials.

List any six principles of green chemistry.
Explain the advantages of galvanizing over tinning.
A coal sample contains C=70%, 0=23% H=5%, N = 0.4% Ash = 0.1% Calculate GCV and NC V of the fuel.

Explain the following factors affecting the rate of corrosion.

i) Relative areas of anode and cathode

ii) pH of medium iii) Purity of metal .

i) 0.5 gm of coal sample was burnt in Bomb Calorimeter experiment produced 0.06 gm of BaSQa.
Calculate percentage of sulphur,

ii) What is supercritical CO,? Give one application of it.

Write a note on sandwich panel type layered composites.

With neat and labelled diagram explain fixed bed catalytic cracking.
) Write a note.on atomization.
ii) What is pigment? Give its two functions.
Calculate the percentage atom economy for the following reaction.
CH3aNHz+ COCl; = CH3N:= C=0 + 2HCI

Explain with the help of diagram wet corrosion in neutral medium.
i) Explain the green chemistry principle ‘prevention of waste’.
ii) Write a note on ‘Matrix phase’ of composite material
Mention four drawbacks of plain carbon steel

. ‘Calculate weight of air needed for complete combustion of 2kg of coal containing C=70%, H=10%, 0=10%,

N=5% and remaining ash.

AG6EDA59D8F071BCT752F7D8786E5B2816
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Q.6.

b.

2]

b.

T0132/T50012 APPLIED CHEMISTRY II

Q.P. Code :13126

i) Explain the method of impressed current cathodic protection.
ii) Give two purposes of alloying. \
. Explain conventional and green route of manufacturing of Adipic acid.

. What is compaction in powder metallurgy?
Explain powder injection moulding method with suitable diagram.
i} Mention the characteristic properties of composite materials.
ii) Distinguish between anodic protection and cathodic protection,
. Define fuel. Give the characteristics of good fuel. ‘

A6EDAS9D8F071BC752F7D8786E5B2816
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Bated QP. Code: 18575

‘r
(3 HOURS)
1) Answer any FOUR questions.
2) Use first angle projection method only.
3) Assume any suitable dimension if required.

Q1 Figure given below shows two views of anﬁbject Draw the folIGng vxew&iq
full scale.:- s e
i) Sectional Front view section P-P -
ii) Top View o y
iii) Left hand Side view V04
iv) Insert minimum 10 dxmcnsxona __‘{)2
920 HOLE
)-/'
" et e
k s
240~ INUH-
e
/‘/
. /
e /
o
il 25 HOLE
1 >
, Sl z
o I 5p ) -edd <
o - "
; ®12
~
. N 244 \X
QZ A tetrahcdwn af 170 mm 51des has one of its edges in H.P. and inclined at 45° to 15

~the V.P. while a fnce containing that edge is vertical. Draw projections of the
tetrahedron

[TURN OVER

9780C43F3C29912FC2827BC31793369D



T0132/T50015 ENGINEERING DRAWING.
Q.P. Code: 18575

Q3 a) Draw the isometric view of the following using the natural scale . =~ . - 08

—+t-——ﬂ+—
i I
50 60 -
RH.SV F.V

b) A triangular prism base 40 mm long and height of axis 65 mm has one of its base 07
edges in H.P. and inclined at 40° to V.P. Draw Pprojections when the axis is

inclined at 45° to H.P,
Q4 a) Draw the isometric vie\igfo'?ths:'folibwjng using the natural scale 07
, FV e LHS.V
20 40 10 | l_g_l
B
™
= | f
<r 4
o
™ i
N e
10 20
50

b) A line AB 70 mm long has its end A 10mm above H.P. and 20 mm in front of 08
- V.P. The line AB is inclined at 40° to H.P. and its front view is inclined at 65° to
XY. Draw its projections and find inclination of AB with VP,

[TURN OVER

9780C43F3C29912F(C2827BC31793369D




7 T0132/T50015 ENGINEERING DRAWING.

Q:I%g Code1857 55

Q5 a) A pentagonal pyramid of 40 mm edge of base and 70 mmhrgh stands vertxcally 98 %
. with its base on H.P. and an edge of base is perpendicularto V.P, A section: pﬁane S
perpendicular to H.P. and inclined at 30° to V.P. cuts’ thﬂ&ij!ya‘aﬂud sueh’ thatit ¢

front of it. Draw sectional Front View, Top washnw‘mg tha sectlo‘n and true
shape of section. SRR A Ol . ;

passes through the pyramid at a shortest distance of 12 mimcfrom the axis andin Fav

b) A cone of 70 mm height of axis and base diameter{io mm is mstmg on, 1ts base 675 ; S

on H.P. It is cut by a section plane parallel to one Q’f its end'generators’ and 12 i 2
mm away from it. Draw developmem ofia(efﬁ surfacn oﬁruncated solid. .« % ) 2

Q6 a) Figure given below shows two vers Q'E an iject, Dfaw the foliowmg vwws to
full scale.:- A o _ :

i) Front View ftom,X“ v
ii) Top View : AR L e PR AP ST AN R 4
iii) Insert minimum 6. dlmcnsxoqs S Tt W e R S 1
- R3
| XL L
- o
1R
i
./‘Q
A z
; > o gi
o e R
. =]
/\ ‘,"
: E [
P
P v %

b) Qne end of an m‘atastlc thread of 150 mm length is attached to one corner ofa 6
SR .regulgr hexagOnal disc having a side of 25 mm. Draw the curve traced out by the

. other end of the thread when it is completely wound along the periphery of the
Pt <-dlsq, kcepmg the thread always tlght

|3
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]Sern 1 / T0132/T50013 STRUCTURED PROGRAMMING APPROACH (REV 2017) - Mﬂ"{ ’.2_0 {7

cholce P codestanto <
agec L
o (3 Hours)
A [ Total Marks 80}

NB.: s
1. Question Number 1 is compulsory
2. Attempt any 3 questions from re?maxmngﬁ qu'
3. Figures to right indicate full nmrks : ‘. x St
4. Assume suitable data if nec:e%axy ﬁnd s£ate them clearly :

Q1.  a Convert 00100100 0010 1101 fron:) b.isc F to«dec:lmal Convert 134 fmm base 4
10 to hexadecimal. Write: steps of coavefs ion - : : ;-",. &
b. Enlist all the data types in C. language e'ion&mm tI"xeu' memory :equlrements "5 4
format specifiers and range. .~ .* Eai e
c. Draw flowchart for 'if else'and. ‘w‘hﬂd’ gtatements of (& language X S0 4

d. What is use of storage - ciasses" Etplam extern storagc classca w1th sultable 4
example. S :

e. Differentiate betwecn \sfructure @n '.’1 umgﬁ‘ gt S

Q2. a. What is need\of computer pmgrammmg’L What r;lo you mean by structured 10
programmmg‘? Dewlo p an
of a\numbea; -5

Wnte a menu ﬁ:vénpmglam to pel;form—anﬂmnetxc operatwns on two integers. 10
¥ 3 -‘-Th? ; renu shouid ‘be repeafed mnubth er_gelects 'STOP' option. Program
. BSh'-”-’] d haVe mdependent usc.-,r deﬁned ﬁmctlon for each case

“9‘

Q3 a Wntcﬂ 8. progmm that creates tWQ. hicger arrays of size 8 and 7. Initialize the 10
o S ,rs W1th random values bogt the arrays in ascending order with the help of
R au 5cr dcimed ﬁmc\twn\qaamely 'sortArray'. Merge these arrays with the help of
'andther user dqﬁned func tionnamed 'mergeArrays' which returns a new array.
Py ogram z;hquld dlsplay the arrays before and after sorting, also the merged
warray

s LB N b

St b. What arx:' advantages and dlsadvantages of recursion? Comment on conditions 10
o 1-be; cmlsidgfed while writing a recursive function. Write a program to print
o ;bopg;f.w; “sqx ies up to N terms using a recursive function.

& i

o - i Turn Over

092EF8E1 7TDD96EBE27i9CFD3C5E9F83 1




Q4.  a. What are structures? Comment on nested structures. Wﬁtn‘a;m‘g:am to réad‘,_--'_lil
Title, Author and Price of 10 books using anay ‘of sum D15p1gy«the i “
records in ascending order of Price. ol Sl

ii.

Q5. a. Write programs to print foﬂo%mﬁm for N hn&s

d? all; ﬁle opening modes. Write a program to 10
Le*Lel:thbusgr‘ *p‘eqlfy names of source and destination files.

N s

Q 6‘._\_ oy o Gomment on, dynamxc&nemory allocanon ‘Write a program to read and store N~ 8
SIS Z mfegers m an a‘.n:ay, whem%alue of N is defined by user. Find minimum and
max,lmhm xzumbers fmm the array. |

092EF 8E177DD96EBEF79CF D3C5E9F831




et C,ho i\te T0132/ T50014A COMMUNICATION SKILLS. MHT~ 1er3}r_
Pate AL

[Time: Two Hours] [Marks40] o ‘

Please check whether you have got theﬂg t

N.B: 1. Question.No.1is compulsory. &

‘ 2. Attempt Any three out of five questions.
‘ . PR

a) Write a short on objectives of communication. - X 03
b) Read each sentence and fill the blank spaces chpos I g’the correct word e Ak 02
1. You will loose/lose your deposit if you canceltheofder e o S S
2. He'saman who's/whose optmonlrespect P el it el gt
3. Heis one of the men who oes[dotheworki e ST DAY G it
4, |would advice/advise extreme caugIOm A o SO L §
03
d) Construct the technical defi nltlon 02
1) Wall Clock 2) Soldermg .
Q.2 a) Explain non-verbal comm '[catmn : 03
b) List out principles of commqntcaﬁun an ezg“plmn two prmdgfe,s: 02

c) As the Manager of Sangam Ho"\ ;'ﬂ,e elhi; write a claim letter: _‘h,e Genera1 Manager of Bharat Potteries, 05
Aligarh Road, Bhayam pur teil;nghrm that mu&t of the t‘ontents of’the china ware which you had ordered from
their firm hQVE reathed YQ» ina: damagad condltton Bemand fepiacement or suitable compensation. Invent

necessarydeta:ls (Use modiﬁed blq&k»fbrm}

Q.3 a) What lsmeant by extemal and inta‘malcbmmunlcaﬂpn??xp?ain internal communication. 03
b) Match“"tl;te folhwfng a2 02

-|:a) Optional Part

-~ -|’b) Reference Number
~-“| ¢) No Ordinals

d) identification Mark

¢ o BIRTSNE & O &
NS 'If > «4) 1zm/07

Céntre, Bangalore, draft a sales letter to Business Professions selling them 05
! :emi Block form)

1:: 'Fhe 3 dav FitpeSs Weeke d.
‘2. The'7.day Tota! Futne‘sg Programme

3 The individuallzed corporate well Well-being Programme

[pP.T.O]
F97BF8CF494AE2E18F297DC342E04790




T0132/T50014A COMMUNICATION SKILLS.

Q.P. Code :17098
Q.4 a) Write a short note on Emiail Etiquettes %

b} Classify the following instructions as Caution, Precaution, Warmng, Note
1. Do not expose to the medicine to direct sunlight. :
2. Avoid 3moking, e U &%
3. Weay Hand glovizs. SALSSECL =
4. Fil'in the entries carefully

¢} Write: short note on any two. S R )
1. Silence i ;
2. Grapevine
3. You Attitude

Fosiiie:

d) 1dentify the barrier.

: A 0
1. The Accounts officer, who*atways dld hls falculatiom‘. manua!ly, could not work on
computing machine, 5 : 28
2. Asignboard read, Fmefor Parking i |
Q 5 2) Explain in detail socio- psychofoglc‘e:lbk | & 0

b) Provide one word subsntu te for.the fol lowmg ;entence
1. Acontagious: dtsease wh{ch spreads oyer 3 huga area
2. Borrows 1deas and steal others words j§ caﬂ'ad

Q.6 a) Describe. anwO,Nﬁoithe followlng Objet:ts gwmg%ﬂMﬁqn diagram, components and working of Smartphone
or WaterPuriﬁer E Nk g :

b) Read.the‘followmg pagsage gare‘fuity and answer the questmns given below.
Thewordl_, uthanasia is Qf Greek ong{n and ltterallv means "a good death.” The American Heritage
, Qrctibnaht defines. rt as "the act ‘éf killing a\pevs’qn painlessly for reasons of mercy," Such killing can be done
_throughactive means, suthas aﬂm]nlstermga !ethal injection, or by passive means, such as withholding medical
_"care or food and water. :
AT recentyears inthe Uniteq;.‘itat _ _eré have been numerous cases of active euthanasia in the news.
.""They usuaihj inyolve the’ deﬂberate killing of ill or incapacitated persons by relatives or friends who
S "piead that they\ can no. Ion%‘gr bear to see their loved ones suffer. Although such killings are a crime, the
S pefrpetrators are often dealt with leniently by our legal system, and the media usually portrays them as
g .:cgmpass'nonate heroes who- take personal risks to| save another from unbearable suffering. The seeming
i .atcegtance of-active: forms Qf‘euthanasm is alarming, but we thee a bigger, more insidious threat from passive
fbrmso{«euthanamq, Every yea\r in hospitals and nursing homes around the country, there are growing numbers
: "nf docurnEnted deathwquSed by caregivers withholding life sustaining care, including food and water, from
.~fvu|nerab'|e pat;gnts whm:annot speak for themsetves

[P.T.
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TO132/ TS0014A COMMUNICATION SKILLS. Pt

put its stamp of approval on causing death by omitting neededmare \Furth

Most euthanasia victims are old or very ill, so their: deathsfn}éht be, aftribufed toa cau:,e ather thah the
denial of care that really killed them. Further, Ms often relatwgs»-of the p‘atient wha request’vhat care be
withheld. In one court case, the court held that decuslqns to wm}'lhaldlife'gustaint‘ngc care may, be made not only
by close family members but also by a number of third. partnes, apd thafsuch«deas‘lons need not bg reviewed
by the judicial system if there is no dlsagreement between decfs‘ o‘n makers and m“edical staff The court
went so far as to rule that a nursing horrie rnay/nbt refuse to parr.lc:pate in the« fatal withdraWaI of food and
water from an incompetent patient! = > Al

"Extraordinary” or "heroic" treatmen‘t need nﬁt be used when the chance i‘or rg:overy is poor and medical
intervention would serve only to. brotm&the dying procaﬁ Butto deqy ;sttomaTv and reasonable care or
to deliberately starve or dehydrgta someone | because he.or- she is'very.old-or Veﬁ]»lll should not be permitted.
Most of the cases coming befare fhe courts d‘o nqtmvofve wnhboldmg heroic mgasures from imminently dying
people, but rather they se:ek apprpval for enyfng basu: care, such as adminlstr‘atton of food and water, to
people who are not elderly or’ termmalh(JII But whq are. peu:mahently mqapacitated These people could be
expected to live mdeﬂnitﬂy, though in‘an’ unpalred state, if they were: »given food and water and minimal
treatment. No one has the l:jght to 1udge thatanoth' 's fife is-not worth living. The basic right to life should
not be abridged because someone dé cides: tha‘t\some g s’ Qf.ﬁughty of life is too low. If we base the right
to life on quahty of life stagtiards, therg‘ls no Ioglca1 p!aneio aw: the‘ime, To protect vulnerable patients, we
must foster more pos;twe atti tudes towards pet)ple WIth sgﬂous and incapacitating illnesses and conditions.
Despite the ravages afthew diseases, the\( ‘are still our féllbw human beings and deserve our care and
respect.. We must also enact posstwrleg:slatmn that w1|l ‘protect vulnerable people from those who
consider: their. ﬁves meamngles; or too costly to. maintain and who would cause their deaths by withholding
llfe-sustalnlrfg care such as food ahd water it

1l~ Why author flnds rvat;o‘n ami dehydraﬁon mduced euthanasia is to he "more insidious"?

FO7BFSCFA94AEZEISFZI7DCTAZEGH 7590

o ”qa
any'states have "living wﬂl“ faws o
designed to protect those who withhold treatment, and there ﬁaVe betén numerous court! ru!}ngs which have.
approved of patients being denied care and even starved a@d dehvdrafed= | _;death Because such deaths
occur quietly within the confines of hospitals and nutsmg homés, tbev can. be kept hiddeu from the pubhc
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